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1 FLCT code link: http://solarmuri.ssl.berkeley.edu/~fisher/public/software/FLCT/C_VERSIONS/ 

2 DAVE code link:  http://wwwppd.nrl.navy.mil/whatsnew/dave/index.html 







•

•

•

•









•

–

–

–

•

•











One can then derive these Poisson equations relating the time 

derivative of the observed magnetic field B to corresponding time 
derivatives of the potential functions: 

    

h
2 ˙  = ˙  z (3);

h
2˙ J =

4 ˙ J z
c

= ˆ z ( h
˙ B h ) (4);

h
2

˙  
z

 

 
 

 

 
 = h

˙ B h (5)

Since the time derivative of the magnetic field is equal to -c xE, we can 

immediately relate the curl of E and E itself to the potential functions 
determined from the 3 Poisson equations: 

B = ˆ z + Jˆ z (1)
˙ B = ˙  ̂  z + ˙ J ̂  z (2)

Use the poloidal-toroidal decomposition of the magnetic field and its partial 

time derivative: 
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min dx dy L(x,y) (8)
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h W 2 (Eh
I

h ) +Bh (Bh (Eh
I

h ) R B) /Bz
2( ) = 0 (10)

h (W 2 /Bz)(E B) ˆ z ( ) = 0 (11)

or

ˆ z h ((W 2 /Bz )E B)( ) = 0. (12)



  
(W 2 /Bz )(cE B)h = (W 2 /Bz )(cEh Bz

ˆ z + cEz
ˆ z Bh ) = h (13)
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